





















$$\begin{aligned} & \mathsf{Detailed Derivation of pn Junction Potential} \\ E(x) = \begin{cases} \frac{-qN_A(x+x_p)}{\varepsilon_S}, & -x_p < x < 0 \\ \frac{qN_D(x-x_n)}{\varepsilon_S}, & 0 < x < x_n \end{cases} \\ V(x) = -\int_{-x_p}^x E(x')dx' \\ \frac{(1) \text{ for } -x_p < x < 0}{\varepsilon_S} : V(x) = -\int_{-x_p}^x E(x')dx' = \int_{-x_p}^x \frac{qN_A(x'+x_p)}{\varepsilon_S}dx' = \frac{qN_A}{2\varepsilon_S}(x'+x_p)^2 \Big|_{x'=x_p}^{x'=x} = \frac{qN_A}{2\varepsilon_S}(x+x_p)^2 \\ \frac{(2) \text{ for } 0 < x < x_n}{\varepsilon_S} : \text{Because } E(x) \text{ has different expression for } x < 0 \text{ and } x > 0, \text{ the integration should} \\ \text{ be performed in two separate ranges, first from } -x_p \text{ to } 0, \text{ and then from 0 to } x. \text{ We can use } V(x=0) \\ \text{ from the above equation for the first intgration. Therefore,} \\ V(x) = \frac{qN_A}{2\varepsilon_S}x_p^2 - \int_0^x \frac{qN_D(x'-x_n)}{\varepsilon_S}dx' = \frac{qN_A}{2\varepsilon_S}x_p^2 - \frac{qN_D(x'-x_n)^2}{2\varepsilon_S}\Big|_0^x \\ = \frac{qN_A}{2\varepsilon_S}x_p^2 - \left(\frac{qN_D(x-x_n)^2}{2\varepsilon_S} - \frac{qN_Dx_n^2}{2\varepsilon_S}\right) = \frac{qN_A}{2\varepsilon_S}x_p^2 + \frac{qN_Dx_n^2}{2\varepsilon_S} - \frac{qN_D(x-x_n)^2}{2\varepsilon_S} \end{aligned}$$